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=y Y 1 111

4H 28 113.27 zgi; H 80 g 3 0 52 g
1E47 47.12 0 1 121 0 2

4A3H 36.44 zgi; z - (3) : 50 0

4F 48 64.66 ;gi; 48'02 g 13 12(3) 5(5) é
=V _ 1 11

4858 89.37 zgi; 28 og 3 3 (7) 58 g
1E47 48.02 0 12 11

4868 32.09 zgi; 8 5 5 0 f, 5(3) g
1547 48.12 0 12 116 54 3

4R7H 0 Zg'i; 0 0 0 0 0 0

4A8H 135.57 ;g; 47'48 g 1(1, : 1(2) 5(3) (2)
2R 48. 1 11 2

4B9H 102.79 2?; ° 63 g [;’ g 5c3) 0
1B 48.48 0 16 125 53 2

4H10H 42.48 zgf% 5 0 0 0 0 0

4R118 68.7 ;g; 48'1(2) g 12 122 5g (2J
1247 477 17 11

45128 113.87 zgg g g . g 52 g
1B 47 473 0 19 130 56 4

4B 138 33.56 ng% 5 5 0 0 0 0

4F148 0 ;g; 48'0(7) g 12 12(2, 5(5) 3
1847 48.31 1 11 4

48158 134.4 zgg 830 g g 3 5o g
1B 47 4831 0 15 125 56 3

48168 109.02 ng% 5 0 0 0 0 0

48178 49.24 ;g; 49'9(2) g 1(5, : 12 5(2) g
1E4F 1 1 1

45188 71.54 zgi; i g g g 2(3) 52 g
1E4F 45.61 0 17 11 4

4H19H 105.67 zgi; > 60 0 0 3 5g 0

4H208 328 ;gi; 45'6(2) g 13 : 13 5(5) g
1547 : 1

4H218 0 zgi; sl 2(2) g 28 23 5(7) g
1E¥A 48.12 0 1 11 2

4H 228 124.82 zgi; ° 5 0 3 g 5g 0

48238 101.72 ;gi; 49'0(2) g 1(7, 12(1) 63 g
V= T 1 11

4F248 44.06 zgg 4 g g (5, g 53 é
=R 48.31 0 14 131

4250 77.31 zgi; 2?'28 5 15 120 22 2

4F26H 106.24 ;Ef; 2222 3 1; : 211 22 2
V= _ 1 11

48278 34.19 zg; 2333 3 1: 112 241‘ g
=R 46. 0 14 121 2

48288 0 zg,ﬁi 4222 0 12 113 gg 4
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154F 4711 0 16 122 55 3

581 55.02 &

R1H pA=N = 4711 0 17 128 42 3
154F 20.53 0 17 115 62 5

582 100.46 ~

R2H 254R 46.57 0 19 131 48 3
1E4R 0 0 0 0 0 0

583 55.86 —

R3H 25 1R 50 0 17 126 50 2
1547 0 0 0 0 0 0

584 26.53 &

R4H pR=N = 48.12 0 16 116 47 3

5H50 0 11:}02 0 0 0 0 0 0
254R 49.25 0 13 118 53 4
1E4R 0 0 0 0 0 0

586 116.97 —

RéH 254F 46.11 0 17 126 53 3
1547 0 0 0 0 0 0

587 133.31 &

R7H pR=N = 49.47 0 15 121 46 2

5HSH 5208 1:9;5 33.65 0 18 125 60 5
pR=N = 49.42 0 14 116 49 2
1E4R 48.15 0 17 114 50 4

589 71.29 —

R9H 254F 43.14 0 15 114 43 4
1847 48.67 0 13 111 55 2

5810 109.79 -

R10H pR=N = 48.15 0 14 114 51 2
154F 49.99 0 13 121 52 3

5811 31.67 &

R11H pR=N = 49.01 0 12 114 49 2
1E4m 4767 0 14 116 58 4

5812 0 —

R12H 254F 46.45 0 16 116 48 5

58130 195 87 1-:—'}02 48.68 0 19 114 56 2
pR=N = 49.27 0 21 125 48 4
154F 45.15 0 19 129 61 7

5814 107.74 ~

R14H pA=N = 46.16 0 21 126 51 6

5H 150 4794 1:'1;5 47.62 0 14 126 56 3
254F 48.09 0 19 127 48 4
1847 48.89 0 22 131 57 6

5816 71.37 a

R16H pR=N = 4799 0 17 114 47 4
154F 47.78 0 16 125 56 3

5817 96.5 ~

R17H pA=N = 48.39 0 15 123 48 4
154F 49.15 0 17 121 55 4

5818 26.93 ~

R1sH 254F 48.38 0 13 125 56 5
1E4R 50 0 14 116 54 3

5819 1.42 -

R19H 25 IR 49.98 0 12 116 46 4

5 20H 133,73 1:4;5 49.11 0 15 124 57 3
pA=N = 47.17 0 19 123 50 3

58210 109.86 1:);5 48.66 0 16 125 58 4
254F 48.61 0 14 114 44 2

5H 226 48.03 1Z'J;E 4798 0 14 122 57 5
25 IR 48.05 0 14 123 49 3

5H 230 80.22 1:4;5 48.87 0 17 122 60 3
pA=N = 48.25 0 19 120 47 6
154F 14.79 0 13 117 62 6

5824 112.63 ~

R24H pR=N = 46.38 0 15 116 46 5
1E4R 0 0 0 0 0 0

5825 29.73 —

R25H 25 IR 4581 0 15 131 48 4
1847 0 0 0 0 0 0

5826 0 &

R26H 25 4R 48.18 0 19 118 56 7
154F 0 0 0 0 0 0

5827 133.81 ~

R27H 254R 47.33 0 19 117 54 3
1E4R 0 0 0 0 0 0

5828 104.98 —

R28H 254F 46.57 0 14 127 57 4
1847 0 0 0 0 0 0

5829 53.26 &

R29H pR=N = 4787 0 17 133 48 6
154F 0 0 0 0 0 0

5830 70.28 —

R30H pR=N = 48.28 0 18 126 60 6
154F 0 0 0 0 0 0

5831 97.35 —

Rs1H 254F 46.74 0 19 121 52 7
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154F 0 0 0 0 0 0

681 31.51 &

R1H pA=N = 45.31 0 18 111 55 6

6820 0 1:@ 0 0 0 0 0 0
254R 48.99 0 18 112 56 7
1E4R 0 0 0 0 0 0

683 130.37 —

R3H 254F 48.08 0 28 120 53 5
1547 0 0 0 0 0 0

684 112.52 &

R4H pR=N = 46.31 0 33 112 49 8
154F 0 0 0 0 0 0

685 47.71 ~

RS5H 254R 46.67 0 18 113 49 4
1E4R 0 0 0 0 0 0

686 84.65 —

RéH 25 1R 48.89 0 19 109 45 3
1547 0 0 0 0 0 0

687 101.17 &

R7H pR=N = 45.99 0 17 125 49 5
154F 0 0 0 0 0 0

688 30.68 &

Re&H pR=N = 48 0 16 113 47 7
154F 0 0 0 0 0 0

689 0 —

R9H 254F 46.02 0 18 122 45 6
1847 0 0 0 0 0 0

6810 128.49 -

R10H 254F 48.01 0 22 121 55 7
154F 0 0 0 0 0 0

6811 101.26 &

R11H pR=N = 47.04 0 19 121 46 6
154F 0 0 0 0 0 0

6812 426 —

R12H 254F 46.44 0 18 117 47 5
1847 33.43 0 20 112 50 8

6813 68.66 &

R13H pR=N = 46.2 0 17 120 46 5
154F 4793 0 18 117 52 3

6814 98.26 ~

R14H pA=N = 4558 0 19 131 46 9
1E4R 4761 0 14 113 52 3

6815 31.88 &

R15H 254F 46.25 0 15 114 48 7
1847 48.17 0 15 116 58 3

6816 0 a

R16H pR=N = 48.65 0 19 112 51 5

68178 198.12 1:';13 4531 0 18 123 53 3
pA=N = 4459 0 17 125 44 5

6H 180 99.19 1:}@ 50.27 0 24 122 56 3
254F 48.55 0 13 121 55 4
1E4R 52.01 0 16 122 58 6

6819 48.72 -

R19H 25 IR 48.62 0 21 121 55 5
1547 46.76 0 22 124 63 7

6820 72.3 &

R20H pA=N = 46.1 0 19 120 52 9
154F 49.54 0 13 125 59 4

6821 93.41 ~

R21H 254F 47.36 0 13 123 61 5

68228 3234 h:l};E 50.84 0 31 122 59 6
254F 49.05 0 15 126 54 5
1547 47.85 0 31 130 61 7

6823 0 &

R23H pA=N = 47.75 0 19 128 51 5

6F 240 11643 1:%5 47.02 0 16 122 65 3
pR=N = 49.03 0 14 118 55 5

6H250 96.41 1-:'};E 47.76 0 10 117 57 3
254F 46.47 0 20 119 52 6

6F 260 14.68 h:lnj 50.27 0 23 135 61 7
pA=N = 48.09 0 19 123 42 6

68278 70,68 1:)@ 50.04 0 17 120 61 6
pR=N = 48.27 0 14 134 56 5

6F 280 88.03 1-::'J;E 49.12 0 20 123 60 3
254F 48.67 0 28 129 56 6

6H290 2268 1:9@3 42.09 0 27 169 93 10
pR=N = 26.33 0 16 118 52 9
154F 48 0 16 117 60 4

6 830 0 —

R30H pR=N = 51.31 0 18 116 48 5
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7R18 111.41 ;g; 3?32 g ff, };3 2: :
1247 1 1

7A2H 93.94 zgi; 7 4_92 g ?i ] Zi 2§ 5?
== 0 0 0 0 0 0

7838 40.78 zgi; 5063 5 = 129 47 3

7R4H 77.18 ;gi; 16.22 g 1(1) 113 52 2
oy

7858 96.9 zgi; g g g g 8 8
== 0 0 0 0 0 0

7868 30.91 2?; 5 5 0 0 0 0
== 0 0 0 0 0 0

7878 12.22 zgi; 5 5 0 0 0 0

7A8H 126.39 ;g; 8 g 3 g 3 8
o

7R 9H 102.96 2?; 8 g g g g g
== 0 0 0 0 0 0

7H108 4553 zgf% 5 5 0 0 0 0

TR11H 5952 ;g; 10.78 g 12 10(2) 4(3) 2
1= 4am 4. 1 111 1

7A128 93.15 22? 21,22 g 23 121 g? g
1297 48.21 0 18 113 59 4

78138 32.18 ng% 5008 5 13 113 24 5

AuE |0 |2 02 ; o I 5 3

7A158 102.04 ;EE 232% g fg } ;471 22 ‘71

7H16H 99.63 ;gf; 21 ;; 8 12 };i 2; :

7R178 4593 ;g; g;gz g :2 1 }2 22 2
=y ' 1 1

78 18H 72.19 zgi; 22?2 g 22 12: 2: 2
1297 101 0 17 112

78198 98.36 zgi; 29‘37 5 n 121 gg 2

7A208 30.54 ;gf; g}?g g f; Hz 22 i
=y ' 1 1 1

7A218 0 zgi; 2232 g 1L7l 1 1: 25 2

782280 123.89 ;zi: :g:gg g }; : ;: i; :

78238 99.18 ;ﬁ; ?i;i 8 lg 133 gg ;
=y _ 1 1

7248 471 zgg i 8(7) g 3 g 5g 3
2R 49. 0 14 1 2

7R 258 68.4 zgi; > 53 5 0 3 52 0

7H26H 106.88 ;gf; 51'92 g 28 123 6(1) g
= 1.1 1 1

7B278 36.71 zgg > g g f, 28 53 3
184F 2.0 0 24 111 4 4

78280 0 zg; > g 5 0 0 5o 0
1297 52 0 24 109 57 6

7H298 125.57 ng% 5 5 5 0 0 0

Awn | s [LEE g 2 0 3 :
=R 12 1 112 1

7A318 41.23 zgg 2 g g f, 0 5o g
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154F 51.36 0 18 113 51 4

8B1 64.99 &

R1H pA=N = 0 0 0 0 0 0
154F 50.58 0 20 113 56 4

882 89.4 ~

R2H 254R 0 0 0 0 0 0
1E4R 50.82 0 21 108 56 5

883 28.4 —

R3H 254F 0 0 0 0 0 0
1547 52.08 0 20 110 56 4

884 0 &

R4H pR=N = 0 0 0 0 0 0
154F 50.29 0 18 114 60 3

885 123.15 ~

RS5H 254R 0 0 0 0 0 0
1E4R 51.71 0 18 113 53 4

886 99.21 —

RéH 254F 0 0 0 0 0 0
1547 4951 0 22 113 61 4

887 43.89 &

R7H 254F 0 0 0 0 0 0
154F 49.65 0 21 116 52 5

8A8 69.32 &

Re&H pR=N = 31.27 0 21 110 48 8

8HoH 96.92 1:'J;E 49.89 0 18 120 58 3
254F 50.88 0 21 118 49 5
1847 50.01 0 19 112 56 3

8810 30.3 &

R10H pR=N = 49.20 0 16 112 50 6

SH11H 0 1:%5 51.5 0 19 111 54 6
pR=N = 50.01 0 19 113 53 9

8H 126 108.86 1:'J;E 49.52 0 20 117 55 3
254F 49.25 0 23 113 57 9

8130 106.55 1?):;3 51.05 0 24 128 58 5
pR=N = 51.69 0 14 118 56 8
154F 50.02 0 17 118 55 4

8H14 48.81 ~

R14H pA=N = 50.01 0 19 119 54 5
154F 50.69 0 16 112 55 6

8815 67.76 &

R15H 254F 50 0 16 117 48 5

8H 160 10321 1?):;3 51.44 0 21 115 56 5
254F 52.07 0 13 127 48 2
154F 51.61 0 16 124 61 2

8817 28.88 ~

R17H pA=N = 52.15 0 21 111 54 7
154F 52.01 0 17 109 55 3

8818 0 ~

R1sH 254F 31.13 0 15 122 54 4
1E4R 52.1 0 17 114 55 2

8819 121.38 &

R19H 254F 0 0 0 0 0 0
1547 52.08 0 14 115 49 4

8820 102.64 &

R20H pA=N = 8.42 0 8 0 57 3
154F 52.11 0 22 120 55 5

8B 21 43.28 ~

R21H 254F 0 0 0 0 0 0
1E4R 46.72 0 12 145 53 3

8822 59.14 -

R22H 254F 0 0 0 0 0 0
1547 49.38 0 15 118 49 5

8823 90.67 &

R23H 254F 33.93 0 18 117 51 4
154F 4711 0 23 116 54 5

8824 2951 ~

R24H pR=N = 47.95 0 22 117 56 6
1E4R 51.52 0 20 113 54 6

8825 0 —

R25H 25 IR 49.16 0 18 117 51 7
1847 50.77 0 17 121 48 4

8826 113.6 &

R26H pA=N = 47.95 0 20 115 55 7

8H278 98.98 1:)@ 50.94 0 17 116 55 4
pR=N = 4853 0 17 132 60 4

8F 286 26,36 1:'1;5 48.35 0 20 109 52 5
254F 46.6 0 21 127 61 9

8F 296 5778 1:9@3 46.12 0 20 122 54 7
pR=N = 46.14 0 29 130 49 8
154F 11.39 0 17 113 54 5

8830 51.15 —

R30H 25 4R 34.86 0 17 124 45 9
154F 459 0 21 99 54 12

8B 31 26.9 —

Rs1H 254F 46.17 0 12 126 49 5
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I I [ 3 e 1 S S — — —
=y E 1 11

9H2H 120.29 zgi; :2_2‘? g ;5 ] 2‘71 :S 2
1547 46.10 0 11 11

9A3H 99.96 2?; 42.09 0 10 122 :g 2

i | wy | BF 035 g s o 5 ;
1547 . 1 1

oRsE | ez |27 1o : i IE T ;
1= 4am 45. 0 1 117 4

9A6H 92.44 zgi; 42_33 0 1§ 126 22 2

sR7R | w0 |2 1607 0 i I i ?

S v S — —( ——
1=F 15.7 1 112

9898 111.93 Zgi; 42'22 g 12 123 23 2

9H10H 9387 ;gf; 48:22 g 1(7) 13(7) 52 (3)

98118 4354 ;g; 51_12 g 12 118 42 (2)
o

95 126 67.22 zgg 49'18 g 2(2) 122 52 2

9A13H 88.56 ;gf; 49_32 3 2(3) 1 13 5(1) 2

9g14H 287 ;g; 48_82 g 22 122 62 Z
=

9A15H 0 zgg 5o,o? g 18 1 3(2) 6(1) g

9A16H 95.65 ;gf; = _0(7) 8 1(7) 13(2) 5(2) g

98 17H 95.08 ;g; 51_18 g 1(7) 122 4(5) 2
129RF .

9A18H 49.47 zgi; 52_22 g 12 122 42 2
== 0 0 0 0 0 0

9A 198 60.91 zgi; 1972 5 Y 130 52 6

98 20H 89.1 ;gi; 49_(2) g 13 112 52 (7)
=

9H21H 26.7 zgi; 51_02 g 1(7) 13? 42 2
== 0 0 0 0 0 0

9R22H 0 zgi; 5199 0 17 126 59 5

9A23H 97.25 ;gf; 52_12 g 1(2) 112 5(7) 2
oy

9H24H 98.74 zgg 51_82 g 1(3) 128 53 2
== 0 0 0 0 0 0

982508 46.21 zgi; 5207 5 " 125 24 3

9A26H 66.96 ;gf; 52:22 g 12 12(2) 43 2
oy

9H27H 89.28 zgg 50_2 g 18 122 43 (7)
== 0 0 0 0 0 0

95 28H 34.81 22; 1855 5 20 125 55 6

T I e S E— — S— —

9830R 120.11 ;g; g?;i g ;2 H; gg 3
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154F 46.79 0 18 121 52 5
1081 96.79 &
R1H pA=N = 51.13 0 20 132 52 5
154F 46.06 0 19 113 52 6
10H2 39.43 ~
A28 254R 46.05 0 24 113 49 9
1E4R 46.15 0 15 113 47 5
10H3 51.65 —
R3H 254F 46.50 0 16 122 50 4
1547 4717 0 16 111 50 5
1084 86.4 &
R4H pR=N = 48.05 0 17 119 47 5
154F 4567 0 12 113 48 3
1085 31.47 ~
RSH 254R 23.75 0 9 110 47 3
154F 13.45 0 23 111 52 3
10H6 0 —
RéH 254F 0 0 0 0 0 0
1547 0 0 0 0 0 0
1087 115.24 -
ATH 254F 0 0 0 0 0 0
154F 0 0 0 0 0 0
10A8 96.86 &
ReH pR=N = 0 0 0 0 0 0
154F 0 0 0 0 0 0
10H9 49.97 —
RoH 254F 0 0 0 0 0 0
1847 0 0 0 0 0 0
10810 66.38 &
R108 254F 0 0 0 0 0 0
154F 0 0 0 0 0 0
10811 107.67 &
R11H pR=N = 0 0 0 0 0 0
154F 0 0 0 0 0 0
10812 34.22 —
R12H 254F 0 0 0 0 0 0
1847 0 0 0 0 0 0
10813 0 &
R138 254F 0 0 0 0 0 0
154F 0 0 0 0 0 0
10814 124.26 ~
R14H pA=N = 0 0 0 0 0 0
154F 0 0 0 0 0 0
10815 123.73 &
R15H 254F 0 0 0 0 0 0
1847 0 0 0 0 0 0
10816 59.9 a
R168 254F 0 0 0 0 0 0
154F 0 0 0 0 0 0
10817 74.38 ~
R17H pA=N = 0 0 0 0 0 0
1547 32.08 0 8 104 49 11
10818 97.89 ~
R1sH 254F 0.00 0 0 0 0 0
0B 198 0777 1Z'J;E 451 0 16 130 48 10
25 IR 29.76 0 18 122 51 12
1547 46.11 0 15 126 48 7
10H20 0 &
R20H pA=N = 48.13 0 17 116 53 9
0B 21 190,54 1:%5 46.98 0 19 131 53 8
254F 46.03 0 14 126 45 9
{0226 88.93 1Z'J;E 48.07 0 13 117 55 7
25 IR 477 0 16 122 49 8
{0236 3.3 1:4;5 46.71 0 14 118 56 8
pA=N = 44.38 0 18 115 53 8
154F 46.18 0 15 118 54 6
10824 61.97 ~
R24H pR=N = 48.15 0 35 131 46 10
{0F 258 10713 hzdgi 46.03 0 18 131 47 7
254F 46.75 0 21 141 52 7
{0F 26H 2268 1:4@2 45.45 0 17 128 54 7
pA=N = 49.40 0 27 120 55 9
154F 4187 0 19 113 58 8
10827 0 ~
R27H 254R 44.71 0 24 116 53 9
{0F28H 11776 1:'J;E 46.02 0 17 105 47 8
254F 50.28 0 30 123 54 7
{0F29E 96.22 1:4@3 4551 0 17 116 55 7
pR=N = 48.07 0 18 113 53 10
154F 47.13 0 14 119 51 7
10H30 53.73 &
R30H pR=N = 51.92 0 18 114 54 8
1E4R 46.28 0 16 113 53 9
108 31 70.4 —
R31H 254F 50.04 0 21 120 55 7
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154F 45.23 0 16 118 53 9

1181 94.84 &

R1H pA=N = 50.07 0 22 128 55 8
154F 46.10 0 19 127 49 8

1182 23.93 ~

A28 254R 50.08 0 21 126 55 6
1E4R 46.40 0 20 122 50 8

1183 0 —

R3H 254F 50.50 0 17 125 56 5
1547 46.45 0 13 117 50 7

1184 101.79 &

R4H 254F 49.89 0 21 116 57 7

11A5E 109.44 1:%2 46.06 0 15 121 53 7
254R 50.25 0 22 118 53 8
1E4R 46.88 0 10 114 48 6

11H6 50.01 —

RéH 254F 49.35 0 15 112 60 8
1547 4713 0 10 118 52 5

1187 79.33 &

A7H pR=N = 51.40 0 19 120 57 7
154F 46.07 0 14 115 49 7

1188 97.69 &

ReH pR=N = 51.11 0 18 121 56 6
154F 46.37 0 14 126 50 7

1189 295 —

RoH 254F 51.16 0 20 117 57 7
1847 46.19 0 14 118 54 6

11810 0 &

R10H 254F 50.70 0 20 118 58 8
154F 46.48 0 16 121 48 6

11 A1 120.1 &

R11H pR=N = 49.33 0 25 113 57 9
1E4m 4581 0 16 122 55 8

11812 97.51 —

R12H 254F 50.01 0 18 122 54 6
1847 46.54 0 16 123 52 7

11813 432 &

R138 254F 50.53 0 14 122 56 9
154F 46.16 0 15 124 50 8

11814 77.3 ~

R14H pA=N = 51.79 0 21 129 58 6
1E4R 47.66 0 17 120 54 8

11815 89.71 &

R15H 254F 49.84 0 18 117 57 7
1847 483 0 14 127 50 7

11816 29.65 a

R16H pR=N = 51.51 0 20 131 57 7

M1A17E 0 1:9@ 48.14 0 13 131 53 6
pA=N = 51.39 0 21 117 54 8
154F 48.02 0 13 129 52 8

11818 111.39 ~

R1sH 254F 50.53 0 16 119 58 5

1A 198 95,95 1-:‘}:12 48.68 0 13 128 51 6
254F 52.13 0 16 120 56 4

11B20E 46,56 1:9@5 4584 0 16 128 52 6
pA=N = 48.87 0 22 124 54 9
154F 46.14 0 22 135 53 8

11821 71.73 ~

R21H 254F 48.75 0 19 135 59 7

1A 228 96.66 1-:‘}:12 46.57 0 15 130 56 7
254F 52.09 0 20 125 54 7
1547 47.06 0 14 118 49 7

11823 20.82 &

R23H pA=N = 49.1 0 17 129 52 7
154F 45.77 0 13 123 45 9

11824 0 ~

R24H pR=N = 49.28 0 21 126 57 6
1E4R 47.46 0 19 140 47 8

11825 119.8 —

R25H 254F 0.58 0 18 122 56 6
1847 48.00 0 14 133 50 7

11H26 84.12 &

R26H 25 4R 0 0 0 0 0 0
154F 48.00 0 12 112 51 8

11827 46.48 ~

R27H 254R 0 0 0 0 0 0
1E4R 48.28 0 19 122 51 8

11828 59.83 —

R28H 254F 0 0 0 0 0 0
1847 49.05 0 12 113 51 6

11829 82.22 -

R29H 28 4m 0 0 0 0 0 0
154F 48.78 0 13 111 46 6

11H30 33.55 —

R30H 25 4R 0 0 0 0 0 0
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B CHIRAE CHANIEE [ CA HRERIEY 181 kE ZEXRIEY | —BitxF B ARS
[t/8] [t/ 8] [g/m3N] [ppm] [mg/m3N] [ppm] [ppm]
12818 0 1:9@2 48.65 0 18 148 53 6
pA=N = 0 0 0 0 0 0
154F 4857 0 15 121 55 6
12H2 121.03 ~
A28 254R 0 0 0 0 0 0
1E4R 48.32 0 16 121 56 8
1283 100.52 —
R3H 254F 0 0 0 0 0 0
1547 48.89 0 18 124 54 7
1284 54.83 &
R4H pR=N = 0 0 0 0 0 0
1547 48.18 0 12 129 51 7
1285 70.1 ~
RSH 254R 0 0 0 0 0 0
1E4R 48.13 0 17 1321 52 6
12H6 94.59 —
RéH 254F 0 0 0 0 0 0
1547 48.44 0 13 117 52 6
1287 28.39 &
ATH 254F 0 0 0 0 0 0
154F 47.46 0 14 121 51 7
12H8 0 &
ReH pR=N = 0 0 0 0 0 0
1E4R 472 0 16 117 56 6
12H9 124.49 —
RoH 254F 0 0 0 0 0 0
1847 48.27 0 13 114 50 5
12810 104.5 -
R108 254F 0 0 0 0 0 0
154F 48.31 0 16 122 52 8
12811 48.86 &
R11H pR=N = 0 0 0 0 0 0
1E4m 48.17 0 16 123 49 6
12812 71.78 —
R12H 254F 0 0 0 0 0 0
1847 49.01 0 15 118 52 5
12813 101.91 -
R138 254F 0 0 0 0 0 0
154F 485 0 20 117 53 7
12814 31.34 ~
R14H pA=N = 0 0 0 0 0 0
1E4R 48.27 0 15 124 52 8
12815 0 &
R15H 254F 0 0 0 0 0 0
128160 133.62 1-:—‘)02 46.17 0 17 122 54 8
pR=N = 32.16 0 21 128 48 6
12B176 10411 1:9@3 46.24 0 19 116 47 7
pA=N = 44.43 0 17 140 43 5
12180 50.78 1:};5 36.02 0 14 103 47 14
254F 29.83 0 21 133 54 7
(2B 196 1418 1-:'J;E 45.92 0 21 122 49 8
25 IR 44.19 0 16 125 48 6
128 20H 11127 1:9@5 46.03 0 13 123 49 7
pA=N = 44.35 0 19 124 50 6
128218 23707 1:%5 46.21 0 15 124 49 8
254F 44.15 0 14 114 50 6
1E4R 46.14 0 12 120 49 6
12822 0 &
R22H 25 IR 443 0 11 120 49 5
128236 194.26 1:9@5 46.48 0 13 112 53 5
pA=N = 46.11 0 17 123 49 7
12 24H 101.89 1:%5 46.28 0 12 112 47 7
pR=N = 46.07 0 12 114 50 6
1E4R 46.2 0 11 117 43 5
12825 62.03 —
R25H 254F 46.21 0 17 112 45 6
125 26H 86.73 1:9@3 46.44 0 15 124 54 5
pA=N = 46.02 0 20 118 51 5
154F 46.15 0 11 119 51 6
12827 120.74 ~
R27H 254R 46.12 0 18 130 49 6
12F 286 5202 1-::'};5 46.05 0 9 114 48 5
254F 46.08 0 16 132 51 7
1847 46.19 0 8 121 51 6
12829 0 &
R29H pR=N = 46.27 0 10 118 47 5
12830H 129,09 1:9@3 4521 0 15 113 51 7
pR=N = 45.35 0 19 117 52 8
1E4R 46.56 0 12 117 50 5
12831 99.5 —
R31H 254F 46.55 0 15 118 50 5
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[t/ B] [t/B] [g/m3N] [ppm] [mg/m3N] [ppm] [ppm]
I A 5 e S E— — S— —
1247 46.24 0 10 111 49 5
1 A28 14.94 22)@2 46.24 0 9 114 48 4
1247 46.46 0 12 116 51 5
1838 15.33 zgi; 1627 0 6 130 54 6
1547 4454 0 9 114 49 4
1H48 46.42 Zg'}; 438 0 12 109 96 o
msE | o |27 g ; z I o :
== 0 0 0 0 0 0
1H6H 170.44 zg,f; 465 0 16 117 56 7
== 0 0 0 0 0 0
1A78 138.96 zgi; 2623 0 10 120 52 5
== 0 0 0 0 0 0
1H8H 44.59 zgg 46.31 0 13 141 47 5
=y= 0 0 0 0 0 0
1H9H 60.86 2;; 4567 0 17 122 46 4
== 0 0 0 0 0 0
1H10H 70.21 Zg'f; 46.17 0 17 135 47 4
== 0 0 0 0 0 0
1A11E 26.52 2;; 7608 0 8 131 48 4
=y= 0 0 0 0 0 0
18128 0 zgg 46.57 0 15 136 42 5
== 0 0 0 0 0 0
18138 95.13 ng; 2612 0 12 118 42 4
== 0 0 0 0 0 0
18148 96.88 zg; 2632 5 ” 113 22 3
== 0 0 0 0 0 0
1A15H8 40.04 zgg 4617 0 14 129 43 4
== 0 0 0 0 0 0
18168 60.03 ng; 1623 5 = 122 20 5
== 0 0 0 0 0 0
18178 81.3 zg; TXE 5 15 127 48 5
== 0 0 0 0 0 0
18188 27.93 zgi; 46.40 0 17 120 51 o
= 0 0 0 0 0 0
1A19H 0 2?; 4591 0 22 121 51 6
== 0 0 0 0 0 0
18208 108 zgﬁ; 44.66 0 17 121 50 6
=y 0 0 0 0 0 0
1A218 85.28 zgﬁ; 26.23 0 8 112 50 6
= 0 0 0 0 0 0
1A228 44.48 zgf; 25.98 0 17 123 48 6
== 0 0 0 0 0 0
18238 63 zgf; 25.24 0 8 125 43 7
1E4m 0 0 0 0 0 0
1248 83.87 zgi; 261 0 24 129 52 9
== 0 0 0 0 0 0
18258 29.67 zg,i: 46.82 0 22 127 50 9
== 0 0 0 0 0 0
1H26H 0 zg,f; 49.97 0 18 119 50 6
== 0 0 0 0 0 0
1A278 109.19 zg.ﬁ; 50.39 0 18 125 55 5
== 0 0 0 0 0 0
18288 74.88 zg; 106 5 72 134 24 5
== 0 0 0 0 0 0
1H29H 37.12 Zg'f; 488 0 17 138 52 9
== 0 0 0 0 0 0
18308 53.93 zgg 2902 5 20 136 47 5
=y= 0 0 0 0 0 0
18318 77.38 2;'; 50.18 0 20 132 52 7
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. | emrE CHEE | EUCA | MEBILW | BKR | BRBLW | —BIOEE | e
[t/8] [t/B] [g/m3N] [ppm] [mg/m3N] [ppm] [ppm]
Y= 0 0 0 0 0 0
2818 24.36 zg; 217 5 79 131 51 4
2A2H 0 ;gi; 52.18 g 18 128 42 2
1247 0.00 0 0 0 0 0
2A3AH 105.6 zgi; 49 55 0 18 121 54 6
=y= 0 0 0 0 0 0
2H4A 82.48 zgf; 7932 5 28 T 28 5
=y= 0 0 0 0 0 0
2A5H 32.01 2;2 48.73 0 27 131 49 5
=y= 0 0 0 0 0 0
2A6H 43,05 zgi; 48.28 0 27 126 50 6
=y= 0 0 0 0 0 0
2A7H 69.11 zgi; 5083 0 20 130 53 o
=y= 0 0 0 0 0 0
2A8H 21.65 zgg 51.69 0 16 132 54 5
=y= 0 0 0 0 0 0
2A9H 0 2;‘; 34.68 0 21 124 52 6
=y= 0 0 0 0 0 0
2HB10H 101.71 Zg'f; 5217 0 12 110 57 5
=y= 0 0 0 0 0 0
2B 116 51.01 zgg 5201 0 11 101 53 5
=y= 0 0 0 0 0 0
2H12H 4464 zgg 5165 0 18 130 95 6
=y= 0 0 0 0 0 0
28138 64.26 ng; 214 5 e 124 52 7
=y= 0 0 0 0 0 0
2A14H 107.8 zg; ST 5 S 131 52 4
=y= 0 0 0 0 0 0
2H15H 28.01 zgg 50.24 0 22 123 51 9
=y= 0 0 0 0 0 0
2R16H 0 ng; 5200 0 22 131 55 4
=y= 0 0 0 0 0 0
28178 112.12 zg; 162 5 T 134 51 5
=y= 0 0 0 0 0 0
2R18H 95.18 zgﬁé 50.16 0 16 158 47 4
=y= 0 0 0 0 0 0
28198 375 zgf; 52 01 0 16 123 55 6
=y= 0 0 0 0 0 0
25208 55.72 zgf; 51.23 0 19 121 50 4
== 0 0 0 0 0 0
2A21H 77.11 zg.i; 5168 0 19 131 51 4
=y= 0 0 0 0 0 0
2R 228 238 zgf; 5147 0 19 125 55 4
=y= 0 0 0 0 0 0
2A238 0 zgi; 51.99 0 16 133 53 4
1E4m 0 0 0 0 0 0
28248 79.54 zgg 5702 5 T 117 48 3
=y= 0 0 0 0 0 0
2F25H 82.97 zgi; 212 5 9 100 9 3
=y= 0 0 0 0 0 0
25268 37.35 zgf; 52,03 0 16 124 53 4
=y= 0 0 0 0 0 0
2H27H 60.47 2;'; 49 85 0 17 127 53 6
=y= 0 0 0 0 0 0
2H28H 80.04 2;'; 5102 0 14 126 47 4




